RHINO-RACK

Steel Euro crossbar to 2500 Leg Fitment Supplement

|:| 2. Check the contents of kits before commencing fitment and report any discrepancies.
[] 3. Place these instructions in the vehicle’s glove box after installation is complete.

[1 4. These instructions must be followed for warranty to be upheld.

Important: |:| 1. Please refer to your fitting instruction to ensure that the roof racks are installed in the correct locations.

Note: To complete installation, Steel Euro crossbars, RLKVA legs, Euro Bar adaptors and DK kits are
required. Be sure to have all four kits before attempting to begin.

Steel Euro crossbars

RLKVA Legs

Pad & clamp (DK) kit

Euro Bar Adaptors

Fit EB-FK1 (Euro Bar Adaptor Kit) to the 2500 leg. Note: Spring and flat washer and M6 nuts are found in the

leg kits.



https://www.carid.com/rhino-rack/

Steel Euro crossbar to Leg Fitment Supplement

Refer to DK fitting instruction for vehicle make/model and to determine measuring strip length.

AN

i

IMPORTANT NOTE: When viewing the DK fitting instruction, refer to the column with the VA crossbar

and not the column of Alloy Eurobar as shown below.

VA crossbar

I'/_\_ g |
Vg I
I VA I EURO
Front Measurement | Measureme
Left Pa strip length trip length
Clam per side per side
M281I I
SUB0381
I 151mm I 38m
I ~ I
example onl
xampie oy

r= =1

&
ﬁl 7

Alloy Euro crossbar
/

A

asureme]
rip lengt
er side

t | Measurement
strip length
per side

easure
Distan

I (x)

I

I_exampleﬁnlyJ

n Continue to follow RLKVA instruction to finalise fitment.




RHINO-RACK

EB-FK1 -

Euro Bar @
Adaptor Kit. ~

Note: For use with RLKVA.
Spring/flat washers and M6
nuts are found in leg Kits.

Item Hardware kit Qty | Part No.
1 | M6x25mm HD Cap Screw 4 B0O39
2 | Euro Bar Adaptor 4 M362
3 | Instructions 1 R1760




i
\'if{

£ RHINO-RACK

DK289 VA, Euro, HD, RS Crossbar instruction

Maximum Carrying Capacity: Up to 75kg (165Ibs) including the weight of the roof rack system evenly distributed over all crossbars. Please refer to your vehicle manufacturers
handbook and Rhino-Rack vehicle selector web page (www.rhinorack.com/fit-my-car/select-vehicle) for maximum roof loading. Always use the lower of the two figures.

(

If your vehicle is not listed on this fitting instruction please refer to your countries Rhino-Rack web site for the latest information.

Instruction for
DK289 RS350
RS300  RS351 FRONT REAR
RS301 RS367
RS302 RS403 % Crossbar Identification @, Crossbar Identification
RS303  RS404 —
RS308 RS559 C_J 7 C_J C
RS309 RS680 @ J ﬂ C J
RS326 VA EURO HD VA EURO HD
Front M6 Stud [ M6 Screw | Measurement | Measurement | Measurement | Foot plate Rear M6 Stud [M6 Screw | Measurement | Measurement | Measurement | Foot plate
Vehicle Date Crossbar p length length strip length | strip length Distance arrow length length strip length | strip length Distance arrow
ad ) . . . Pad . ) . .
(mm) (mm) per side per side (x) direction (mm) (mm) per side per side (x) direction
. AU/NZ
Hyundai 7/11- 892mm / 894mm /
Accent 1180mm g M473 | 37 35 162mm 107mm » OouT M473 | 37 35 163mm 108mm " ouT
USA/CA 35,1/8 35,13/64
5dr hatch 12-
Hyundai i30 | 10/07- 894mm / 860mm /
5dr hatch 04/12 1180mm | M473 | 37 35 163mm 108mm 35.13/64” ouT M473 | 37 35 146mm 91mm 33.55/64" ouT
Hyundai i30 922mm / 892mm /
5dr hatch 05/12- (1180mm §j M473 | 37 65 177mm 122mm 36.19/64” OouT M473 | 37 35 162mm 107mm 35.1/8" ouT
Hyundai i30 922mm / 888mm /
3dr hatch 07/13- |1180mm | M473 | 37 35 177mm 122mm 36.19/64" OUT | Mm473| 37 35 160mm 105mm 34.31/32" ouT
Hyundai
ElanraGT | 13- |128omm|ma73| 37 | 35 | 177mm | 122mm | 222™/ 1 our fwar3| 37 | 35 | 162mm | 107mm | 892MM/ | our
36,19/64 35,1/8
5dr hatch
Mitsubishi
Outlander 1- |1260mm|ma73| 37 | 35 | 160mm | a7mm | 98MM/ oyt fmara| 37 | 35 | 133mm oomm | SH4mm/ 1 oyt
Sport SUV 38,7/64 35,63/64

See Page 4 for additional fitting information on Mercedes CLK and Hyundai i30.




3

£ RHINO-RACK

DK289 VA, Euro, HD, RS Crossbar instruction

\gﬂ{
FRONT REAR
>, Crossbar Identification > Crossbar Identification
) J
LT C_
= | H d = | H
VA EURO HD VA EURO HD
Front M6 Stud [ M6 Screw | Measurement | Measurement | Measurement | Foot plate Rear M6 Stud [ M6 Screw | Measurement | Measurement | Measurement | Foot plate
Vehicle Date Crossbar p length | length strip length | strip length Distance arrow length | length strip length | strip length Distance arrow
ad . . . . Pad . . . h
(mm) (mm) per side per side (x) direction (mm) (mm) per side per side (x) direction
Mitsubishi
ASX 10- |1260mmimaza| 37 | 35 | 16omm | armm | 2B/ our fmazz| 37 | 35 | 133mm | 20mm | SMAMM/F oyt
38,7/64 35,63/64
4dr SUV
Mitsubishi
RVR 11- [1260mm] M473| 37 35 160mm q7om | 288mm I oy N mars| a7 35 133mm 2omm | 4mm/A Gy
38,7/64 35,63/64
4dr SUV
Mitsubishi
Lancer 4dr | 10- |1180mm | M473| 37 35 173mm 118mm | 224mm/Gur Y mars| a7 35 156mm | 20tmm | 880MM/ oy
35,63/64 34,41/64
Sportback
Mazda 2 862mm / 784mm /
5dr hateh 11- |1065mmj M473 | 37 35 204mm 94mm 33 15/16" OUT [ m473| 37 35 165mm 55mm 30.7/8" ouT
AU/NZ
1/04-
3/09
LI o 1180mm | M473| 37 35 175mm 120mm | 918mm /4 our Y mars| 37 35 165mm gy || S g
4dr sedan 36,9/64 35,23/64
USA/CA
04-09
AU/NZ
4/09-
12/13
Mazda 3 118ommimaza| 37 | 35 | 1stmm | 126mm | 230MM/ 0 oyt Imaza| 37 | 35 | 1esmm | 113mm | 294MM/ 1 oyt
4dr sedan USA/CA 36,39/64 35,19/32

10-13




£

£ RHINO-RACK

DK289 VA, Euro, HD, RS Crossbar instruction

\'if{
FRONT REAR
>, Crossbar Identification > Crossbar Identification
- )
G C_
= | Y - = | Y
VA EURO HD VA EURO HD
Front M6 Stud [ M6 Screw | Measurement | Measurement | Measurement | Foot plate Rear M6 Stud [ M6 Screw | Measurement | Measurement | Measurement | Foot plate
Vehicle Date Crossbar p length | length strip length | strip length Distance arrow length | length strip length | strip length Distance arrow
ad . ) . . Pad h ; . .
(mm) (mm) per side per side (x) direction (mm) (mm) per side per side (x) direction
Mazda 6 900mm / 884mm /
5dr hatch 08-12 [1180mm j M473 | 37 85 166mm 111mm 35.7/16" ouT M473 | 37 65 158mm 103mm 34,51/64" ouT
Mazda 6 900mm / 884mm /
4dr sedan 08-12 [1180mm § M473 37 35 166mm 111mm 35,7/16" ouT M473 37 35 158mm 103mm 34.51/64" ouT
Mazda CX-5 950mm / 984mm /
4dr SUV 12-16 [1180mm j M473 | 37 55 191mm 136mm 37.13/32" ouT M473 | 37 &5 163mm 108mm 35.13/64" ouT
Mazda CX-7 988mm / 956mm /
adr SUV 07-12 [1260mm § M473 37 35 170mm 57mm 38,57/64" ouT M473 37 35 154mm 41mm 37.41/64" ouT
Mazda CX-9 1024mm / 998mm /
4dr SUV 07-15 [1260mm § M473 37 35 188mm 75mm 40,5/16" ouT M473 37 B85 175mm 62mm 39,19/64" ouT
Mercedes
CLK/ CLK55 | 97-02 [118omm | ma73| 37 | 35 | 137mm | somm | 82™™M/ 1 our Imara| 37 | 35 | 130mm | samm | B4MM/ | oyt
33,5/32 33,5/16
2dr coupe
Peugeot
968mm / 914mm /
4008 12- |[1260mm § M473 37 85 160mm 47mm 38,7/64” ouT M473 37 85 133mm 20mm 35.63/64” ouT

4dr SUV




h%?; RI-IINO-RACK DK 289 VA, Euro, HD, RS Crossbar instruction

Hyundai i30 3 & 5dr and Hyundai Accent 5dr Hatch only.

Side View: .
ae View Place the four Washers provided under
each of the Studs in the DK Kit. Install
Stud. Studs as per instructions.
i30 Washer.
(WO058)

97-02 Mercedes CLK/ CLKS5S5 only.

Fitting Instruction supplement R968 has specific information for attaching the roof rack to the Mercedes CLK. The instruction is within the

Documents tab of the selected roof rack.

Accept no compromises, choose only quality roof racks.



https://www.carid.com/roof-racks.html

	jb0437-installation-instructions
	jb0437-installation-instructions-2
	jb0437-installation-instructions-3



